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= Year 9/10               = GEOMETRY               = Worksheet 4
	1. Use the following figure to verify the theorem of Pythagoras. 
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	2. Calculate the shortest distance from P to 
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	3. Use the following figure to verify the theorem of Pythagoras.
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	4. ABCD is a rectangle.                                 A
Calculate the length of 
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	5. Calculate the length of 
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	6. Refer to Q5. The length of 
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 is reduced by 4 cm. What is the length of 
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	7. Three squares are shown below. Verify that 
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	8. M and N are mid-points of 
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 and 
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 respectively. 
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cm. Find the length of 
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	9. Diameter
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. Calculate the length of 
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	10. Calculate the area of the square. The circles have the same radius of 1 cm.






	11. A rectangular sheet of paper, width = 12 cm and 
length = 16 cm, is folded so that one corner is placed over the diagonally opposite corner. Calculate the length of the crease.



	Numerical, algebraic and worded answers.



2.  2.4 cm


4.  1.4 cm


5.  24/7 cm


6.  24/7 cm


8.  7.5 cm


9.  3


10.  12 + 8(2 cm2


11.  15 cm
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